
During diastole, filling of the ventricles normally increases the volume of each ventricle to about 120 mililitres. 
This volume is knowm as end diastolic volume. Then as the ventricles empty during systole, the volume 

decreases by about 70 mililitres, which is called the stroke volume.(i.e. the volume of blood pumped by B 
each ventricle in the aorta in one stroke or beat). The remaining volume in each ventricle is now about 50 
mililitres is called end systolic volume. 

Volumes of blood related with cardiac cycle. 

The fraction of the end diastolic volume which is ejected out is called the ejection fraction. (usually around 
60% or 7/12). EF = SV/EDV 

Cardiac output it is the amount of blood pumped by the each ventricle per minute. Its value in a normal 
adult is about 5 litre/minute. 

Cardiac output = stroke volume x heart rate. 

End diastolic volume 

End systolic volume 

120 ml. 

50 m. 
Stroke Volume = EDV - ESV = 70 ml (approx) 
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Cardiac output = stroke volume x heart rate. 
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50 ml. 

Stroke Volume = EDV - ESV = 70 ml (approx) 
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